Geography Exam-Social Studies 11





Separate Sheet of Paper Please!
Section A: Matching (6 marks)

1. Developed Economies               A. Spending more than 56% of a person’s or family’s income on the necessities of life

2. World Bank                              B. created in 1944 to help rebuild the economies devastated by war

3. Poverty Line                             C. the number of people within a given area

4. Rate of Natural Increase        D. subtract the death rate from the birth rate

5. Population Density                   E.  A level at which a land can no longer support its people

6. Carrying Capacity                    F. diverse areas of wealth generation, and focus on service industry
[image: image2.emf]
Multiple Choice (58 marks)
1. Which profession would compile this information?

A. geologist

B. cartographer

C. demographer

D. meteorologist

2. At which stage of the Demographic Transition Model would a high birth rate and a high death rate be found?

A. Stage 1

B. Stage 2

C. Stage 3

D. Stage 4
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3. Which country has the lowest population density? (Use chart to the right.
A. Country W

B. Country X

C. Country Y

D. Country Z

4. Which of the following is a consequence of a rising dependency ratio?

A. Infant mortality rates will increase.

B. Fewer workers will reach retirement age.

C. Governments will need more money to provide services.

D. Developing countries will meet literacy and health targets.
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5. Which of the following factors is typical at Stage 3 of the Demographic Transition Model? 

A. falling immigration

B. lowering literacy rates

C. rising standard of living

D. increasing HIV/AIDS infections

6. Which factor is typical at Stage 1 of the Demographic Transition Model?

A. lack of proper nutrition

B. increasing literacy rates

[image: image5.emf]C. introduction of healthcare

D. decreasing HIV/AIDS infections

7. The crude birth rate of a country is determined by calculating the

a. crude death rate first.

b. number of births during a year per 1,000 people.

c. number of births during a year per 100 people.

d. number of births subtracted from the number of deaths

· Rise in ageing population

· Stable population growth

· Industrial-based economy

8. Which population pyramid represents this list? (use pyramids to right)
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Use the pyramid to the right to answer question 9.

9. In what stage of demographic growth is this country?
A. expanding

B. contracting

C. stable growth

D. early expanding
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Use the pyramid to the right to answer question 10.

10. In what stage of demographic growth is this country?

A. expanding

B. contracting

C. stable growth

D. early expanding

11. All of the following are measures of the UN’s Human Development index except

A. Adult literacy

B. Life expectancy

C. Access to fresh water

D. Per capita Gross domestic product

12. Which of the following would contribute to a low population density?

A. cold climate

B. developed infrastructure

Dependable water source

D. high rates of urbanization

13. Which of the following contributes to Canada’s current population trend?

A. high death rate

B. low fertility rate

C. high doubling time

D. low life expectancy

14. What effect does a high dependency ration have on a country?

A. it improves nutritional awareness.

B. it promotes higher economic growth.

C. It causes a decline in personal tax rates.

D. It places a greater strain on its healthcare system

15. Which of the following is associated with an increase in a country’s literacy rate?
A. increasing fertility rates

B. decreasing migration rates

C. rising unemployment rates

D. falling infant mortality rates

16. Which of the following is a characteristic of a developing nation’s economy?

A. It is highly industrialized.

B. It has an educated workforce

C. It is dependent on cash crops

D. It has a well-developed infrastructure

17. Which of the following is commonly associated with NGOs?

A. forgiving debt payments

B. advising on foreign policy

C. settling international disputes

D. developing community projects

18. Which of the following is used in calculating the United Nations Human Development Index?

A. infant mortality

B. total fertility rate

C. adult literacy rate

D. average household income

	The total value of all goods and services produced in a country in one year


19. What term does this definition describe?

A. industrial output

[image: image8.emf]B. carrying capacity

C. gross domestic product

D. average household income

Use the headline to the right to answer Question 20.
20. What type of aid is described in the headline?

A. tied

B. military

C. bilateral

D. multilateral

21. What headline best exemplifies the concept of “tied aid”?

A. “Congo’s Needs Are Greater than Sierre Leone’s”

B. “Red Cross Provides Aid to Victims of the Famine”

C. “Canadian Businesses Will Profit from Aid to Congo”

D. “World Health Organization Provides Aid to Earthquake Victims”

22. What was the original purpose of the Canadian International Development Agency (CIDA)?

A. to promote free trade

B. to increase foreign aid

C. to negotiate peace in troubled nations

[image: image9.emf]D. to develop manufacturing plants in other nations

Use the chart to ther right answer question 15.

23. Which country would rank highest on the UN Human Development Index?

A. W

B. X

C. Y

D. Z
24. What conclusion can be inferred from the information to the right. 
[image: image10.emf]A. Sweden has a high population.

B. Botswana has a one-child policy.

C. Thailand has a high dependency ratio.

D. Afghanistan has insufficient medical care.

25. Which of the following is a characteristic of a newly industrializing country?

A. decreasing GDP

B. increasing fertility

C. increasing population

D. decreasing life expectancy

26. Which newspaper headline reflects the concept of tied aid?

A. “Canadians and Americans send funds to Indonesia”

B. “Canadian government provides aid to the Red Cross”

C. “Afghanistan and Iraq request Canadian military supplies”

D. “Canadian company receives profit for assistance to Rwanda”

Matching

Column I
Column II

27. Promotes trade amongst Pacific Rim nations
A. tariff

28. Allows free trade among Canada, US, and Mexico
B. NAFTA

29. Increases costs of imported goods
C. APEC

30. Provides assistance to developing nations
D. Trade Bloc


E. Branch Plant









F. CIDA

31. Which of the following terms best describes services such as sewers, water lines,

roads and bridges?

A. urbanization

B. urban sprawl

C. infrastructure

D. primary industry

32. Through what international organization does Canada promote trade in goods and services? (Challenge question)

A. WTO

B. WHO

C. NATO

D. NORAD

33. Which pair of factors would contribute to a declining rank in the UN Human Development Index?

A. poor healthcare and increasing GDP

B. decreasing civil war and increasing income

C. poor education and increasing infant mortality rate

D. decreasing crime rate and increasing life expectancy
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34. To what does the above statement refer?

A. cholera

B. civil war

C. HIV/AIDS

D. malnutrition
35. What plays an important role in improving the standard of living for developing countries?

A. reduced reliance on exports

B. rising population growth rates

C. increasing production of cash crops

D. higher levels of education for women

36. Which of the following statements best describes an impact of global warming?

[image: image11.emf]A. increase in volcanic activity

B. increase in average sea levels

C. increase in rates of skin cancer

D. increase in ultraviolet radiation

37. Which of the following statements best describes the message of the cartoon to the right?

A. Humans will become extinct in the near future.

B. People are apathetic towards environmental issues.

C. People are more pessimistic about the earth’s future.

D. More people are now realizing the importance of environmental issues.

38. Globally, which of the following consumes the greatest amount of water?

A. mining

B. industry

C. residential

D. agriculture

	Without the Montreal Protocol, an international agreement to reduce CFC use, levels of

	ozone-depleting substances will be five times higher by 2050 than they are today.


39. What is the above statement suggesting?

A. Countries need to solve this problem independently.

B. There are no solutions to these environmental problems.

C. Global cooperation is necessary to protect the environment.

D. Montreal can serve as an environmental model to other cities of the world.

40. With which environmental issue is the Kyoto Accord related?

A. acid rain

B. desertification

C. global warming

D. ozone layer depletion

41. Which is a correct cause-and-effect pairing? (Challenge Question)
A. sprinkler restrictions (decreased aquifers

B. increased deforestation (reduced flooding

C. ban on herbicides (less contaminated ground water

D. filters for pulp mill effluent (less successful salmon spawning

[image: image12.emf]42. Which of the following is associated with this change in the ozone layer?
A. increased CFCs

B. the Kyoto Accord

C. the Montreal Protocol

D. increased automobile usage

43. Which of the following is an accurate statement regarding global warming?

A. CO2 emissions have decreased over the past ten years.

B. Global warming is most severe in the developing world.

C. Developed nations produce the most CO2 emissions per capita.

D. Global warming has caused skin cancer rates to increase dramatically.

	Treat the earth well. It is not inherited from your parents,

it is borrowed from your children.

old Kenyan proverb


44. Which practice of resource use does the proverb illustrate?

A. urban development

B. sustainable development

C. commercial development

D. non renewable development
Matching

Column I
Column II

45. “Scientists: Permafrost Areas Melting Quickly”
A. Acid Rain

46.  “Loss of Potential Medical Cures Predicted”
B. Global Warming

47. “Skin Cancer Rates to Increase
C. Ozone layer depletion

48. “Famous Stone Buildings Eroding”
D. Rainforest destruction


E. Soil Erosion

Short Answers (Sentence Format): (44 marks)
1. Explain five effects of overpopulation in developing countries. (5 marks)
2.
Explain five obstacles that developing nations face in becoming developed nations. (5 marks)
3. Describe realistic strategies that Canadians could take to reduce their negative impact on land, water and the atmosphere. (2 for each – land, water, and atmosphere=total 6 marks)
4. “Earth’s average surface temperature will increase by 1.4 to 5.8 degrees Celsius by the year 2100.”

Discuss six impacts of global warming on Canada. (6 marks) – Positive and negative impacts
 5.   Discuss the impact of humans on the global environment. (gift question=5 marks)
6. Explain the political, social, and economic challenges in finding solutions to environmental threats that affect Canadians.  All three aspects of the questions must be addressed. – discuss 3 political, 3 social, and 3 economic issues. (9 marks)
Use the following information to answer question 7.

· The population explosion in not uniform

· Some countries’ populations are in the process of exploding, others are merely expanding
· Some countries will suffer more extreme problems as a result of overpopulation

· Others will actually suffer economically as a result of the decrease in population growth

7. Explain the strategies developing and developed nations have used to deal with their population problems. (4 strategies for developed and 4 strategies for developing countries) (8 marks)
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